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Check Your Understanding . — Step-by-Step Solutions begin on page R14.

Examples 1-2 Find each measure. Assume that segments that appear to be tangent are tangent.

1. mz1 2. mTS 3. m2

s attached to the first of
several barrels that have been strapped
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Practice and Problem Solving
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17. SPORTS The multi-sport field shown includes
a softball field and a soccer field. If mABC = 200,

find each measure.
a. mLACE
b. mZADC

Examples 3-4 @STRUCTUHE Find each measure.
18. mZA 19. msLW
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ALGEBRA Find the value of %
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29. PHOTOGRAPHY A photbgrapher frames a carousel in

his camera shot as shown so that the lines of sight form
tangents to the carousel.

a. If the camera’s viewing angle is 35°, what is the arc
measure of the carousel that appears in the shot?

/
\ /

b. If you want to capture an arc measure of 150° in the \ A

photograph, what viewing angle should be used? R SR

\
X =
camera .

@AHGUMENTS For each case of Theorem 10.14, write a two-column proof.

30. 31. [
—_—

— —>
Given: secants AD and AE Given: tangent FM and secant FL

T Ta PR iy
: = —(mLH — mG
Prove: mZA = -%—(mDE — mBC) Prove: mZF 2(m mGH)




